cheat 2ol 90 o 4 A4 AT 7F AT s o grom &
AL
(@)60° @ 61° ® 62° @ 63° ® 64°

13

pi)

(CAT = 40° o] B2
£x = 180° — 40° — 80° = 60°




toiet.

S

aHANA 2x, 2y O A71E 22 F

O
)

ot

2.

D osx=35°

ul

A

o
o
I~
|
>
N
0"
L0
(ap]
|
=
N




3. o2 I"HAA x, 1y & 2712

@4’“ =30°, 2y = 80° @ 1x=30° Ly =90°
@ /x=30° sy =100° @ /x =40°, Ly =80°

® /x=40° 1y =90°

A7} GAdo] WA o]k 74e 1 T o] Pzt et
" Lx=30°, Ly =80°




4. o TN x, 2y o 3718 27 Fapolel,

> E: °
> E: °
> HED ix=60°
> ®Hgh: zy=120"°

/x = 60°
Ly = 2/x = 2 X 60° = 120°




5. o= " L, 2y o A71E 47 FHHH?

T
® zx =60° sy =110° @ 1x=60° sy=120°
® 1x=170°, Ly = 120° @ /x=1T0°, Ly = 130°

@Ax =70° sy =140°

/x = T0°
Ly = 2/x = 2 X 70° = 140°




6. T2 I LABT & 27|12

@® 33° @ 34° ® 35° @)36° ® 37°

ZA 0 HAEOCH /TAO = 90°
/BAO = 36°, OA = OB °|E&2
/ABT = 36° o|t}.




7. o237 2ol gABCD = 9 O o HHSIZL BT = 9 0 9 HAY

@25° @ 24° ® 23° @ 22° ® 21°

£ABC = 180° - 100° = 80°
£x = 180° — 80° — 75° = 25°




o2 I-oA 24 PQ = F 99
TE HMol, AT = F ¥
T50ol FH¥oltt. /ABT = 60°,

(DTC =55°4 ], zx, 1y ¢ 27]
£ Fotoiet

L
o

L
o

D /x=60"°

v Vv v Vv
0x
it

0
i

. ly=65"°

B

(ABT = /ATP = /QTC = (/CDT °|B&
/x =60°

w2k ACDT A

Ly =180°— (55° + 60°) = 65°




, LX, LY

o] T& AL H T 7L o

brg

Jol4 PG 7
shofat.

a1
o g 7

o
=]

=

9.

. Zx=280°

ull

A

S
o0
Il
(@)
=
c
<
Il
[a
)
<
N
S
o0
Il
=
J

Ly =80°




10. o= ™A PQ7HF ol & Aol A T7H AL W, 2, 2y

o) 327
® zx=60° sy =060° @ 1x=160° 2y="T0°
® 1x=170°, Ly = 60° @Ax =T70° Ly ="70°

® /x = 80°, Ly = 80°

(x ="T0°, LATP = £QTC = 70°
L Ly =T0°




11. o= Il P

\VARR 4
0
i

. 68°

(TPB = /PAB = /BCD = 68° ]




12. ©hS 2ol PT & 9] HAMo|t}. olu, ,TPB 9| 272

@® 66° @ 67° ® 68° @ 69° ®)70°

(/TPB = /PAB = /BCD = 70°




